1

AUSTRALIAN

“ ' MONITOR

XR10-12UB MANUAL

XRST10 INSTALLATION

Speaker Screw(M8) pPartB
Self-locked nut

Butterfly nut

Washer ( ©125)

"_ B—
/ Expanding screw
= Screw(M8)
o0
- Washer(®17)
PartA
S
- [«]
Screw(M6)

Mounting surface
(side view)

Fix Part A on the mounting
surface with ex&anding screw,
washer, screw(M8)

Marked kine

Mark the
mounting’
position
according to
the dimension
of part B.

i

Lo

Front view Side view

Install the Part B

on the speaker cabinet

=>8
&
J -
-
00
=
-
g = =

Adjust the dispersion of speaker,
then fix the speaker with
screw(M6),butterfly nut, washer.

o Choose the ideal mounting height,
mark the installation position
of Part A on the mounting surface.
Please note the internal position
of part A (as the diagram

a r 100mm : !
OOOOO/_ 5-/@6.5mm

—@8/5mm

e— 43 5mm —e=!

www.australianmonitor.com.au



M”ON'TDR XRS10-12UB MANUAL

XRS12 INSTALLATION

Choose the ideal mounting height,

mark the installation position
o Speaker  Screw(M8) PartA o Install the PartA o of Part B on the mougting surface.
on the speaker cabinet Please note the internal position

Self-locked nut of part B (as the diagram)
Butterfly nut
Washer ( 912.5)
- Expanding screw A e =5
Screw(M8) /
ﬂ Washer(d 17) <
Part B .
L 5 Screw(M6) ‘ /
L)
Adjust the dispersion of speaker, 100mm .

Mounting surface then fix the speaker with
6 (side view) G screw(M8),butterfly nut, washer. a

Fix Part B on the mounting
surface with expanding screw,
washer, screw(M8)

Marked line

\

Mark the
mounting
position
according to
the dimension
of part B.

i — 460mm —>

?\%\\\\

lw— 43.5mm —e-!

Front view Side view

www.australianmonitor.com.au



